Geometry 1-2(E) Name: Kl:\/
Chapter 2 Review

1.) The measure of the complement of an angle is thirty more than twice the measure of the angle. Find the
measure of the angle, its complement, and its supplement.

AGLE = X YP~x= 2% +3io
Comp = TO¥
3x =€0
Sope = (B0~ x - Angle: _20__

Supplement: _ 24 (6o

Complement: _[6# 70

2.) Two sg:ylfe_nggg_ta_w angles are in a ratio of 3:5. Find the measure of the larger of the two angles.

3y +5x = I€° 3(25) = €78
x> 1o s025) {125]
X225

3.)Given: mZW = 168

Find the measure of the supplement of any one of the three angles formed when Z W is trisected.
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4.) Given: ﬁ bisects ZABD and m/DBC =47.5°
Find: mZABE

[Bo-425 < [32.5




5) mLl=x*-12 and m/3=2x+3
Find the measure of £2.
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6.) Given: /2 is comp to /4 C
£2=/3
Prove: E_LEE
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